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Express 60 cm? in litres.

()  0.0862
@) 08¢
(3) 60002

@) 800002

Which one of the following has the same value as 9.357

(1) 935x 100
{2) 835+100
(3) 935x 1000
@) 935+1000

Jo bought a ribbon and used 1.75 m of it. She then cut the remaining
tibbon into 10 pieces, each 0.25 m Jong. What was the length of the
sibbon that she bought?

{1 2,00m
2} 2.5m
(3 425m
4 1275m

Alan received an allowance of 3150. He saved $60 of his allowance and
spent the rest. What percentage of his allowance did he spend?

(1)  40%
) 60%
(3) 90%
4)  135%
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Do not wiite
Questions 12 to 21 carry 2 marks each. Write your answers in the space| inthis space,
provided. For questions which require units, give your answers in the unit

stated. (20 marks)

12, A rope measuring 28.8 m is cut into two pleces. The longer piece is

twice as long as the shorter piece. Find the length of the shorter
piece.

13. At a stall, oranges were sold at 4 for $4.20.
How much wouldl 800 oranges cost?

Ans: $ —

14,  The base of a cuboid is a square of edge 5 cm. The height of the
cuboid is twice its length. Find its volume.
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18, The figure below Is made up of 8 ideniical squarss. 4 of the squares | o retuwis

are cul inio 2 equal paris. Wiat percaniage of ths figuws s unshaded? | PSS 3p2ss.
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7. The joliowing solid is made up of 1-cm cubes. How many cubes ars
thers in the solid?

\ Ans:




18.

The height of a stack of 200 similar workbooks is 8.6 m. Given that all
the workbooks are the same helght, find the helght of one workbook.

Do not write
in this space.

19.

Peter took a $50 000 renovation loan from a bank. He paid 5%

interest to the bank in the first year. How much interest did he pay thé }

bank in thie first year?

Ans: §

20,

Ahmad bought a computer which included a GST of 7%. The price of
the computer before GST was $1800. How much did Ahmad pay for
the computer? Sig

Ans: $
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Section &
For questions 22 to-25, show your working clearly and write your answers inl g‘i"\;:‘ wits
the space provided. The number of marks available is shown in the brackels pace.

[ ] 2t the end of each gquestion or past-question. (14 marks)

22. A rectangular tank measuring 20 cm by 10 cm by 30 cm is half filled
with water. 180 ml of water is removed. What is the volume of water
left in the tank? .

/ |

30 cm

pP— /wem
20cm

Ans: 3
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24, Amanda paid $188.80 for a dress, a jacket and a bag. The dress ¢ost | po notwits
$30.50 less than the jacket, while the bag cost $22.80 more than the | in this space.
jacket, Find the cost of the dress.

Ans: [4]
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EXAM PAPER 2017 (P5)

SCHOOL : CATHOLIC HIGH SCHOOL
SUBJECT : MATHEMATICS

TERM : CA2

SECTION A

Qi 92 | a3 | a4

Q6

Q38

)
(Lo}

Qio

-0
4} ]

4 4 2 4

W

Q11

2

SECTION B

Qi8) 0.043
Q19) 2500
Qz20) 1926




SECTION C
Q22) VOLUME OF TANK - 20 x 10 x 30 = 6000
VOLUME OF WATER IN TANK - 6000 x ’2 = 3000

VOLUME OF WATER LEFT -> 3000 — 180 = 2820

Q23) WOMEN - 42%
MEN - 35%
CHILDREN -> 100% - 35% - 42% = 23%
100% -> 2500
1% -» 2500 + 100% = 25
DIFFERENCE IN WOMEN AND MEN - 42% - 35% = 7%

7% > 25x 7% = 175

Q24) 3 UNITS -> $188.80 - $30.50 - $30.50 - $22.80 = $105.00
1 UNIT - $105 + 3 = $35.00

Q25) 4 UNITS = 4.4-2.8=1.6
1UNIT> 1.6+4=0.4

2.8-0.4=2.4



